The Mass of Fruits

Name: Class:
Fill in the blanks. Use as 1 unit of mass.
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The mass of the apple 1s units.
The mass of the is 4 units.
The is 2 units heavier than the lemon.
The total mass of the 3 fruits 1s units
The is heavier than the pear.
The is lighter than the pear.
The the not heaviest and not the lightest.
The pear is unit lighter than the apple.
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Answers

Fill in the blanks. Use as 1 unit of mass.
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The mass of the apple 1s 6 units.

The mass of the lemon 1s 4 units.

The apple 1s 2 units heavier than the lemon.

The total mass of the 3 fruitsis 15  units

The apple 1is heavier than the pear.

The lemon 1s lighter than the pear.

The pear  the not heaviest and not the lightest.

The pearis 1 unit lighter than the apple.
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